

GEOGRAPHY TERM 6 YEAR 9 HOME LEARNING PACK LESSON 3

Choose one quiz, either A or B and answer a range of exam questions that add up to 18 marks in total. For example 3x 6markers or 1x9marker + 1x 6 marker + 3marker.

QUIZ A:
a. What is a Transnational Corporation?
b. How many TNCs operate in Nigeria?
c. Why do TNCs open up factories in Nigeria?
d. Shell oil drills oil in the………
e. Where is Shell Oil’s headquarters?
f. State one way Shell has socially benefitted Nigeria. 
g. State one way Shell has economically benefitted Nigeria. 
h. State one way Shell had a negative social impact on Nigeria.  
i. State one way Shell had a negative impact the economy.   
j. State one way Shell had a negative impact on the environment  Figure 1[image: ]
Figure 2
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PRACTICE EXAM QUESTIONS
1. Using a case study of a LIC or NEE country, explain the link between Transnational Corporations (TNCs) and industrial development in the country.  (6 marks)
2. Transnational corporations (TNCs) mainly bring advantages to the host country. 
Do you agree with this statement: YES or NO?
Justify your decision. (9 marks)
3. Intel is planning to build a new chip assembly and testing factory in China.
a. China is a good place for a TNC to build a new factory. Suggest two reasons why. (2 marks)
b. A new factory might benefit the area in which it is built. Describe some of the benefits. (4 marks)
4. Outline how international aid can have social and economic impacts. Use an example of an LIC or NEE that you have studied.  (6 marks)
5. Study Figure 1, a photograph of people building a sea dyke in Vietnam. Oxfam provided aid for this project. Use the figure above and your own knowledge to show how international aid can encourage sustainable development. (6 marks)
6. Study Figure 2, a map showing the top five recipients of aid from the UK Government in 2010. Use the following information to complete the figure: Aid from UK to Bangladesh: £150 million. (1 mark)
7. Explain how rapid economic growth can impact on the environment. Use an example of an LIC or NEE that you have studied. (6 marks) 
8. Describe the effects of air pollution and water pollution in urban areas in poorer parts of the world. (4 marks)
9. To what extent has economic development benefitted a LIC or NEE that you have studied. (9 marks)


[bookmark: _GoBack][image: ]



image1.png
(a) Study the figure below, a photograph of people building a sea dyke in Vietnam.
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(a)  Use the following information to complete the figure above.
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(a)  Use the following information to complete the figure above.

Aid from UK to Bangladesh





image3.png
Negative environmental impacts of rapid economic development

Industrial Growth— increase
in factories and industrial
plants. More specifically..

An increase in factories and industrial
plants due to industrialisation. Asa
result..

Water pollution caused by chemical waste from factories in Kaduna, Kano and Lagos.
Air pollution caused by factories releasing harmful gases into the atmosphere.

Growth of oil extraction. More
specifically.

TNCs, such as Shell Oil, drill for oil in the
Niger Delta. It is Nigeria's main source of
income. As a result.

Oil spillsin Niger Delta = fires, air pollution, acid rain, water pollution...etc. For example Bodo Oil Spill (2008-9)
Leaksin a pipeline = 11 million gallons of crude oil to spill over the land. Farmers and fishermen lost their livelihoods. In
2015 Shell agreed to pay £55 million in compensation to be spent on health clinics and schools.

Urban Growth. More
specifically.

Increase of people moving to urban areas
due to growth of secondary industries
(factories) industrialisation. As a result

Not enough houses = squatter settlements are formed.
Not enough services or waste disposal = unhygienic rubbish on ground.
Not enough roads = traffic congestion and pollution.

Growth of commercial
farming. More specifically..

To what extent has development in Nigeria

Large farms are created to grow crops to
export. This is the main source of
employment in Nigeria. As a result

improved quality of

70-80% of Nigeria's forests have been deforested = many species have disappeared (cheetahs and giraffes and nearly 500
types of plants)
Farming has caused land erosion and groundwater pollution due to harmful chemicals leaking into soil and river channels.

AidinNigeria

On the one hand:
Social benefits: .

More specifically, the

Better paid jobs in manufacturing and service industries = more
disposable income = more money spent on schooling, homes, food,
clothes...etc.
«  More taxes = more money spent on services (clean water, sanitation,
electricity), infrastructure, health care = better transport, longer life

expectancy, lower death rate...etc.

A steady increase since 2005 and it is expected to continue.

Typesof aid + Emergencyaid: aid given immediately after a disaster or war (e.g. food,
shelter, medical supplies)
+ Developmental long-term aid: aims at improving quality of life overa longer

time (e.g. WaterAid, schools, roads, electrical supplies)

Aid canbegiven |  Richindividuals, charities and non-governmental organisations (NGOs) (e.g.
by.... Oxfam, WaterAid)

+ Governmental aid from countries (e.g. UK, USA) and International

Organisations (e.g. World Bank, International Development Agency (IDA))

HDI shows...... 2000 Nigeria was among the least developed nations in terms of wealth
and education, where in 2011, Nigeria had one of the highest HDI Why does *  60% of Nigerians (100 million) live on less than $1/day (£0.63p/day).
improvements in the world over the last decade. Nigerianeed *  Nigerians live with limited access to clean water, sanitation and electricity.
Birth rates and infant mortality rates are high and life expectancy is low.
On the other hand:
Social issues: 60% of Nigerians (100 million}live on less than 1$/day, with limited access

to clean water, sanitation or reliable electricity. government to other projects (e.g. the military or navy)

> People give aid butinsist on where it is spent. This is not always in the
best interest of the people

Environmental issues: | See above (air and water pollution, deforestation, oil spills...etc.)

Conclusion:

Overalll believe..... Examples of Aid in Nigeria:

Economic developmentin Nigeria has benefitted the country.

TheWorldBank | Gave $500 million to fund long term business loans in 2014.

Mostimportantly. The key problems, such as high death rates and a lack of services are being

improved due to higher wages = higher taxes = more money to spend on

Netsfor Life
healthcare and infrastructure.

Provide education and mosquito nets to help prevent malaria.

UK Provide a health and HIV programmes, providing health education in rural areas.

Additionally. Higher wages have meant Nigerians are able to spend more money on

their children’s education and improve access to food and clean water. USA Provide education and protection against the spread of HIV/AIDS.

Although..... Over 100 million Nigerians live with limited access to services, withoutthe
recentinvestment more people would be suffering today. Having said this

there is stillmore work to be done:

‘Aduwan Centre In 2010, northern Nigeria, ActionAid and the World Bank, built a new health

clinic. This supported people by:

> Nigeria must have a consistently stable government to increase foreign
investment.
> Nigeria must gain peace between religious and ethnic groups to avoid conflict

> Nigeria must impose sanctions to avoid future oil spills in the Niger Delta.
| o N . . S —

aid? .
I Thisisdueto.. | » Corruption by individuals or the government = money s diverted by the

+ Local women were trained to educate mothers about the importance of
immunising their children against polio and other diseases. Develops skills and
knowledge, long term, helps important problem, involves local community

+ Testsfor HIV and immunises children against polio. Helps important problem.





